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QUESTION 1

A PostOnline trigger is being tested on a three-system cluster with system named SystemA, SystemB, and SystemC.
The trigger works on SystemA, but it fails to run on SystemB and SystemC. What is a possible reason for this? 

A. The PostOnline trigger is missing from SystemB and SystemC. 

B. The hatrigger script must be run on all systems to enable the PostOnline trigger. 

C. The PostOnline attribute is set to false on SystemB and SystemC. 

D. The VCS engine had an error while replicating the trigger to SystemB and SystemC. 

Correct Answer: A 

 

QUESTION 2

What occurs when the hastop -local -force command is issued on the active node in a two- node active/passive cluster? 

A. The services will be shut down on the active node and brought up on the passive node. 

B. The services will continue to run on the active node while HAD is stopped. 

C. The service group behavior will follow the value of the EngineShutdown attribute while HAD is stopped. 

D. The online service groups on the primary node are taken offline and remain offline until started manually. 

Correct Answer: B 

 

QUESTION 3

A cluster system had hardware upgrades performed. Upon reboot, it does not join the cluster. What should you verify?
(Choose two.) 

A. LLT ports have IP addresses. 

B. LLT links are connected. 

C. Hardware is identical. 

D. LLT and GAB are both running. 

E. The cluster ID is unique on all systems. 

Correct Answer: BD 

 

QUESTION 4

In a two node Veritas cluster, all Ethernet heartbeats failed simultaneously. I/O fencing and link-lowpri heartbeat are yet
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to be configured. What is the resulting condition of this problem? 

A. Split-cluster 

B. Jeopardy 

C. Split-brain 

D. Panic 

Correct Answer: C 

 

QUESTION 5

What are two valid methods of notification from within Symantec Cluster Server? (Select two.) 

A. RDMA 

B. SMTP 

C. SNMP 

D. NTP 

E. FTP 

Correct Answer: BC 
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